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SUBJECT-ENGL I SH

SECTIONA: CREATIVEWRITING SKILL

Write an Article, in about 150 words, as Gaurav Tangja, X-B, advocating for the implementation

of inclusive education practices in schools, focusing on the benefits for students with diverse
learning needs. Share advantages and discuss the importance of fostering an inclusive school

environment. Additionally, propose any one recommendation for policymakers and educators to
promote inclusivity in the education system. Use the given cues, along with your own ideas and
those you may have gathered from Unit 2: Education, to create this article.

e Benefits of inclusive education for students with diverse learning needs

e Importance of fostering an inclusive school environment.
Y ou are a Sports Scout*. Write a letter to the Governor of your region, drawing attention to the
need for creating and upgrading sport facilities and following practices to enable the local /
indigenous sporting talent from your city, to hone their skills. Include specific recommendations.
Write the letter in not more than 120 words using ideas from Unit 1. Health and Medicine, along
with your own.
* A person who uses their expertise and knowledge of the sport to identify potential talent and
recruit individuals who can contribute to the team's success.

SECTION B: GRAMMAR
Complete thetask A to C, as directed
Fill in the blanks (i)- (iii) with appropriate option from those in the brackets.

Studying abroad is an incredible opportunity that 0) (can/should/must) significantly
change a student’s life. Students learn to approach problems from multiple perspectives. The
experience of living independently in aforeign country also (i) (have

devel oped/devel ops/been devel oped) resilience and self-confidence. It provides a unique chance to
gain valuable skillsand make ____ (iii) (any/some/all) lasting connections.

In the following paragraph, one word has been omitted in each line. Write the missing word along
with the word that comes before and after it, as shown below. The first one has been done as an

example.
No. | Text Word Omission | Word after
before
eg | Educationiskey achieve sustainable key to achieve

development goals.

1 To ensure quality education, schools
provide adequate resources

2. Students should be encouraged to
participate extracurricular activities.

3. It isimportant to raise awareness
environmental issues

4. By working together, schools create a better
futurefor dl.

Do asdirected:

Rearrange the words in the third line to form a meaningful sentence related to the first two lines:
1. The CEO delivered an inspiring speech to the team.
2. Hiswords motivated everyone to strive for excellence.
3. POTENTIAL/FULLEST/THEIR/TOWARDSWORK/SHOULD/THEY

Report the dialogue to complete the paragraph that follows:

Rahul: | am joining the school debate team.

Emily: Really? What made you decide that?



>

Rahul: I love arguing with my siblings!

Rahul informed Emily that he was joining the school debate team. Emily was intrigued and
0] . Rahul joked (i) with his siblings.

SECTIONC: LITERATURE TEXT
Read the given excerpts and answer the questions briefly:
“Well," | said, "we're leaving on Monday. Is there anything | can do for you before we go?* Nicola
shook his head, but suddenly Jacopo said, “Sir," he burst out, "every Sunday we make avisit to the
country, to Poleta, 30 kilometres from here. Usually we hire bicycles. But tomorrow, since you are
so kind, you might send usin your car." | had aready told Luigi he might have the Sunday off.
However, | answered, “T'll drive you out myself.” There was a pause. Nicolawas glaring at his
young brother in vexation. "We could not think of troubling you, sir."
"It won't be any trouble.”" (Two Gentlemen of Verona)
a. ldentify the phrase that indicates that the visit to Poleta on Sundaysis significant as a
routine or tradition.
b. What does the narrator's offer to drive the brothersto Poletarevea about his character?
c. Why wasthere a pause after the narrator’s offer?
d. State one reason why Jacopo might have wanted a car ride despite the choice of hired
bicycles?
"How amused everyone would be if they knew what really happened,” said Louisa Mebbin a few
days after the ball.
"What do you mean?" asked Mrs. Packletide quickly.
"How you shot the goat and frightened the tiger to death,” said Miss Mebbin, with her disagreeably
pleasant laugh. (Mrs. Packletide’s Tiger)
a. What impact did Louisa Mebbin wish to create on Mrs. Packletide, with her statement,
"How amused everyone would be if they knew what really happened”?
b. Why did Mrs. Packletide ask Louisa Mebbin what she meant by her comment?
c. What feelings did the speed of Mrs. Packletide’s response reflect? (any two)
d. What does the writer mean by ‘disagreeably pleasant laugh?’
Answer the following questions in about 40 words each.
How do Jacopo and Nicola show their dedication and love for their family member in “Two
Gentlemen of Verona’?
Discuss how Shakespeare's sonnet Not Marble, nor the Gilded Monuments convey the theme of
immortality through poetry
State the reason why Jacopo might have wanted a car ride despite the choice of hired bicycles.
(Two Gentlemen of Verona)
How do the characters of the frog and the nightingale differ in their approach to music and
performance? (Frog and the Nightingale)
What does the story Mrs. Packletide’s Tiger suggest about the idea of ‘success’ and its cost?
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SUBJECT-MATHEMATICS

1. Ared number “ o ¢ iscaled zerosof thepolynomia p(x) if
Jp@=4  bp@=1  )p@#0  dp()=0

2. How manypointswill the graph of x>+2x+1=0 will cut thex-axis?
a3 b) 1 c)2 d)o

3. If oneroot of thepolynomia p(x) =5x2 +13x + kisreciproca of other , thenthe value of k is
a3 b) 1 c)5 d)4

4.1f 2isazeroof polynomia p(x) =ax?—3(a+2) -4 thenthevaueof ais
a) 10 b) 9 0)12 d)8

5.1f AABC and ADEEF are similar such that 3AB = DE and BC = 6cm, then EF is
(@12cm  b)écm c)15cm d)18cm

6.1f o and P are zereos of the polynomial 2x2— 5x + 7 =0, then find the value
of ol+p?

7.1f aand b arezeroes of the pol. f(x) =x%—5x + k such that a— b= 1 then find the value of k.

8.In APQR, D and S are points on the sides PQ and PR respectively, suchthat DS || QR. If PD = 4x —
3,PS:gx—ZQD=3x—|01andRS=5X—3,PQ =P Y Q
then find the value of x.

CASE BASED QUESTION
Quadratic polynomial can be used to model the shape of many architectura structures the world. The below
pictures are examples of such architectural structures.

Based on the above information answer the following questions.
a) Name the shape represented by a quadratic polynomial?
b) If zeroesof p(x) = x?+ bx + carereciproca of each other, thenfind the value of c.
¢) If anycurveisrepresentedby [ 3x2-14x + g3 then find the zeroes.
Or
d) Wherethegraph of p(x) =x?+ 1 touchesor intersect x axis.

PROJECT WORK
Art integrated project on Real Numbers




SUBJECT -SCIENCE

SECTION-A (PHYSICS)

1. Read thetext carefully and answer the following questions:

One day Utsav and his friends wanted to verify the mirror and lens formula which they learnt in
their class. They were performing an experiment with optical bench. In their experiment, a convex
lens of focal length of 15 cm is placed at 50 cm mark on an optical bench as shown in figure

(Zoom the figure to view scale on bench). An arrow shaped object of height 8 cm is placed at 30
cm mark on the same bench. One of his friends, Anubhab, hold a screen at 94 cm on bench to get
the real image. But they got the image blurred. By keeping the lens and the object fixed, they
moved the screen and ultimately got a sharp, clear and inverted image of arrow on screen. Then
they noted the position of image and measured the height of image. Thereafter, they obtained the
image distance from lens formula and verified the experimental result with the calculated value.

After that they replaced the lens with aconcave mirror of focal length 12 cm. Again, Anubhab got
the exact position of screen for sharp image after severa trial. They used mirror formulato obtain
image distance to substantiate the experimental data

(&) When they got clear and sharp image formed by lens, the screen was placed at
(i) 0 cmmark (i) 100 cmmark  (iii) 210cm mark  (iv) 80 cm mark
(b) The height of theimage formed by lensis

(i) 8cm (i) 12cm (iii) 16 cm (iv) 24 cm
(c) When they got clear and sharp image formed by mirror, the screen was placed at
(i)10cm (i) 20cm (ii1) 30 cm (iv) 40 cm

(d)The height of the image formed by the mirror is
(i) 4cm (i) 8cm (ilf) 12 cm (iv) 24 cm



2. Following questions consist of two statements — Assertion (A) and Reason (R). Answer
these questions selecting the appr opriate option given below:

(a) Both A and R aretrueand R isthe correct explanation of A.

(b) Both A and R aretruebut R isnot the correct explanation of A.

(c)Aistruebut Risfalse.

(d)Aisfalsebut Ristrue.

i. Assertion(A): A person cannot see hisimage in a concave mirror, unless, heis standing
beyond the centre of curvature of the mirror.
Reason (R): In a concave mirror, image formed is real provided the object is situated
beyond its focus.

ii.  Assertion(A): Power of aparalel glassslab is zero.
Reason (R): The ray passing through a parallel glass slab doesn’t undergo any angular
bending after emergence. B

3. Aray of light is passing through asemicircular glass slab of refractive index V3 as depicted in

the following figure.

i. Determine the angle of refraction while the ray incidents at the centre of
semicircular slab (point O) as shown in figure.
ii.  Draw the completetheray diagram astheray refracting again from glassto air after
entering into glass slab.
iii. If we consider speed of light in air is 3 x 10® m/s. Estimate the speed of light in
this glass dlab.

SECTION -B (CHEMISTRY)

1. In the double displacement reaction between aqueous potassium iodide and aqueous lead
nitrate, a yellow precipitate of lead iodide is formed. While performing the activity if lead nitrate
is not available, which of the following can be used in place of lead nitrate

(a) Lead sulphate(insoluble)

(b) Lead acetate

(©) Ammonium nitrate

(d) Potassium sulphate

2. Assertion (A): Chips manufacturers usually flush bags of chipswith gas such as nitrogen to
prevent the chips from getting oxidised.

Reason (R): Thisincreases the taste of the chips and helpsin their digestion



3. Amit heated afew crystals of copper sulphate in adry boiling tube.

Test tube holder

Boiling tube

Water droplets

Copper sulphate crystal

Burner

(&) What will be the colour of Copper Sulphate after heating?

(b) Why water droplets are noticed in the boiling tube?
(c) Givethe chemical equation for the above reaction.

4. The diagram shows the set up for electrolysis of water

Test tubes
Hydrogen \/ Oxygen
Cathode\‘r Anode
J [ | Glass container
........ e — Rubber stopper
| ! " Direct current

rosource

a) What type of reaction takes place?
b) Explain why thisis an example of an endothermic reaction?
c) Writeabalanced chemical equation for this reaction.
5. A silvery white metal X isin the form of ribbons. Upon ignition, it burns with a dazzling white
flame to form white powder Y. When water is added to the powder Y, it partially dissolves to
form a substance Z which is used as an antacid.
a) What ismetal X ?
b) Name the white powder Y ?
¢) What is the substance Z ?
d) Write the chemical reactions that are taking place.

SECTION - C (BIOLOGY)
1.Which of the following is chiefly digested in the stomach?

a. Carbohydrates b. Protein

c. Lipid d. Fat

2. Oxygen liberated during photosynthesis comes from
a. Glucose b. Chlorophyill

¢. Carbon dioxide d. Water



3.We often hear people complain about ‘acidity’

i. Which substance is likely the reason for the complain?

ii. Why is the production of this substance is necessary?

iii. How does the stomach prevent itself from the harmful effects of it?
4. Observe the diagram and answer the following questions:-

a Labd A, B,CandD.

b. Which processis depicted in the diagram?
c. What is the significance of that process?

d. Mention the importance of B and C.

5.0bserve the given flow chart and answer the correct answer in the process of various ways of
oxidation of glucose-

AU‘:&“QEG‘ QRyoen - e ~ CO, + Energy
| (in yeast) (2-carbon molecule)
Glucose A > - 6 Lackofoxygen _ Ik . |+ Energy
{6-carbon molecuie) (3-carbon molecule (in muscle cells) (3-carbl, Anolecule)
+ Energy)

Presence of oxygen
(in mitochondna)

i. Label A, B.C and D in the above flow chart.
ii. Athletes are often suffering from muscle cramps. Give reason of it.
iii. Why aerobic respiration rel eases more energy than anaerobic respiration?

CO, + H,O + Energy



N

0.

10.

SUBJECT: SOCIAL SCIENCE

‘The idedlistic liberal, democratic sentiment of nationalism became a narrow creed
with limited ends.” Support the statement in the context of Balkan nationalism in
the early 19" century.

Analyse the main clauses of the Treaty of Vienna of 1815.

Mention any three steps which were taken by the Sri Lankan government to achieve
majoritarianism.

How is a federa government better than unitary government? Explain with
examples of Belgium and Sri Lanka.

State any three developmental goals for a person other than income. Also explain
the role of these goals in the person’s overall well-being.

‘We have not inherited the world from our forefathers — we have borrowed it from
our children.” Explain the above statement with proper examples.

Describe the reasons why collective provision of goods and services is aways
cheaper than the individual provision by taking afew examples.

A research based ingtitution wantsto study the properties of aluvial soilsthat makes
it most successful soil type in India for agriculture purpose. What features of the
aluvial soil should be included in the above research? Explain.

Discuss the purpose of Rio de Janeiro Earth Summit and Agenda 21.

Analysethe involvement of different traditional communities to conservetheir own
natural habitatsin India

Activity 1

Cresate atimeline from 1789 to 1871, marking maor events related to nationalism in
Europe.

Activity 2.

Anayse and compare the development indicators (e.g., GDP, literacy rate, life
expectancy) of Indiaand four other neighbouring countries and describe elaborately the
conclusions which can be drawn from the study.



